DHFEHRDAERER

(BfL:y Sv.h)

— - #h £ 50cm
No| BIEE PHRA B % Bibhk BibiE MELT S Eih%
1 feHAREE 0.07 0.09 - 0.09 -
2 PRAREE 0.08 0.09 - 0.09 -
3| 2A28H SEIITENES) 0.09 0.11 - - 0.11
4 HMELE 0.09 0.11 - 0.12 0.10
5 b [REWNREE 0.08 0.10 - 0.10 0.12
6 ﬁ HwEEF R (FEkiE) 0.08 0.09 - 0.10 0.11
7 R |BEFS 0.08 0.10 - 0.10 -
8|2A29AH MHARE 0.07 0.08 0.07 - -
9 BRARSE 0.07 0.08 0.07 0.06 -
10 YU I7UEE 0.10 0.11 - 0.10 0.11
1112H20H YRS (B A 0.09 0.11 0.09 0.10 -
12 - ERDE 0.07 0.08 0.10 0.08 0.08
13 3A28 4t [ E T 2— 0.08 0.09 - 0.09 0.10
14 HoeRIEE AR 0.10 0.09 - 0.09 0.11
15 = AL E X AR 0.09 0.08 - 0.08 -
16 TERS R & Sl 0.09 0.09 0.08 0.08 -
17 o [FIREABLOR 0.07 0.10 0.10 - 0.09
18|/ 2A27H Eﬁ [ 318 S P /NS 0.09 0.10 - - 0.09
19 X |HFMLE 0.08 0.08 0.07 0.08 0.09
20 [B7KE/NER 0.07 0.08 - - -
21 sl EHNREREE 22— 0.08 0.09 0.09 0.08 0.09
22| gig | @ bz B 0.07 0.08 0.09 0.08 0.09
23 Mo ARwe R 0.07 0.08 0.09 0.09 0.08
24 = AR E(FFE ) 0.08 0.09 0.09 0.08 0.09
25 B |BkERE R S— 0.08 0.09 - 0.08 -
26| 3828 fm BRAEREIL LA E 0.09 0.09 - 0.10 -
27 R |HkEREXFT 0.09 0.09 - 0.10 0.10
28(28278 |dt L |IzoZYH—4 0.07 0.08 0.09 0.08 0.09
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